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Question ID : 5362281542
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Question Type : MCQ
Question ID : 5362281543
Option 1 ID : 5362286005
Option 2 ID : 5362286006
Option 3 ID : 5362286007
Option 4 ID : 5362286008

Status : Answered

Chosen Option : 2




Comprehension:

T 2019-20 = I TF WElGEEE 9 9rE =i Ewn e o A, wEeE, a9 wen §
Tyl % Ffad & faua § FefafEs e 8 fEon e oae 2 1500 s g i fosa

3500 TR FI WETEETEE § A0GE PR T | AR ¥ SRSt % ATIT W Nvd wem 15 9 % I
e
fampr—=m fermis=n =1
1 ulaeE (%) (3500 5 #) | =1 ui4em (%) (1500 9 #)
g A 20% 18%
BEGE] 16% 12%
Ao 12% 21%
fomm 22% 11%
) 30% 38%

SubQuestion No : 3

Q3 5o, fosw we o & afigen o A wERE B S AT § e 6w e
R T (%) 77

@ 25% \/(2) 30%
(3 40% 4 60%

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5362281546
Option 1 ID : 5362286017
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Option 4 ID : 5362286020

Status : Answered

Chosen Option : 2
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Question Type : MCQ
Question ID : 5362281544
Option 1 ID : 5362286009
Option 2 ID : 5362286010
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Option 4 ID : 5362286012

Status : Answered

Chosen Option : 4
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Question Type : MCQ
Question ID : 5362281545
Option 1 ID : 5362286013
Option 2 ID : 5362286014
Option 3 ID : 5362286015
Option 4 ID : 5362286016
Status : Answered
Chosen Option : 1
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Chosen Option : 1
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Option 1 ID : 5362286097
Option 2 ID : 5362286098
Option 3 ID : 5362286099
Option 4 ID : 5362286100
Status : Answered
Chosen Option : 2
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Option 4 ID : 5362286048
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Question ID : 5362281583
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Chosen Option : 3
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Question Type : MCQ
Question ID : 5362281549
Option 1 ID : 5362286029
Option 2 ID : 5362286030
Option 3 ID : 5362286031
Option 4 ID : 5362286032

Status : Answered

Chosen Option : 1
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Question ID : 5362281563
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Option 2 ID : 5362286086
Option 3 ID : 5362286087
Option 4 ID : 5362286088
Status : Answered
Chosen Option : 4
Q.12 For wind power electricity generation which among the following type of rotors is most
commonly used?
(1) Multiblade rotor (2) Propeller rotor
3 Savonius rotor (4) Darrieus rotor
Options 1. 1
2.\3/
3.3
4.4
Question Type : MCQ
Question ID : 5362281579
Option 1 ID : 5362286149
Option 2 ID : 5362286150
Option 3 ID : 5362286151
Option 4 ID : 5362286152
Status : Answered
Chosen Option : 1
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Chosen Option : 1
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Chosen Option : 2
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Chosen Option : 3
Q16 oo e 4 & i TavateE (S 7 o gREE) w1 Tt we i ser T A fR der
TTES AMEs T A A E
(A)  GEH R HE H H gE 9 g B =i
(B)  wEw 4% (NAAC) &1 =1 51 0 © %9 ¥ %9 3.26 71
(C)  wEqrsT 31 Tavataarem =i oW ST # U9 2% 30 UF % 9 100 T 7 F9ew T we = |
(D)  wer i fem-fandl som %0 3 %9 1:20 291 =10 |
(E) ol (@) i e w9 4 =9 50 7 |
e 57 T Tt § 9 wE w9
1 FEE (A), B). (©) AR (D) @ = (B). (C) 3 (D)
(3 =4 (B), (). D) = (B) & FaE (A). (C). D) 3% (B)
Options 1. 1
2
3.3
4.4
Question Type : MCQ
Question ID : 5362281586
Option 1 ID : 5362286177
Option 2 ID : 5362286178
Option 3 ID : 5362286179
Option 4 ID : 5362286180
Status : Answered
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Chosen Option : 4
Q.18 The Univerzities centered on the viharas during the Ancient India Period were situated at
(A) Navadeep
(B) Nalanda
(C)  Valabhi
D) Jagaddala
(E) Kanchi
Choose the correct answer from the options given below :
(1)  (&).(®B).(C)only (2) (B). (C). (D) only
(3)  (C). (D). (E) only (4 (D). (E). (A) only
Options 1. 1
2
3.3
4.4
Question Type : MCQ
Question ID : 5362281582
Option 1 ID : 5362286161
Option 2 ID : 5362286162
Option 3 ID : 5362286163
Option 4 ID : 5362286164
Status : Answered
Chosen Option : 2
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An unsolicited e-mail message sent to many reciplents at once is a

(1)  Inbox (2) Spam
(3) Virus (4) Attack
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Question Type : MCQ
Question ID : 5362281572
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Option 2 ID : 5362286122
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Option 4 ID : 5362286124
Status : Answered
Chosen Option : 1
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Match List I with List IT :
ListT List IT
(Systems of communication) (Focussed elements)
(A) Western (I) Non-competitive and co-operative
(B) Indian (II) Co-existence of binary oppositions
(C) Buddhist (IIT) Emotional variants
(D) Chinese (IV) Rhetorical devices
Choose the correct answer from the options given below :
(o8] (A)-(D. (B)-(IID), (C)-(IV), (D)-(II)
@) (A(IV), B)-d). (O)-D. (D)-(ID)
3) (A)-(ID), (B)-(IV), (C)-(1II). (D)-(T)
4 (A-IV), B)-D. (C)-I1ID), (D)-(ID)
Options 1. 1
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Question Type : MCQ
Question ID : 5362281561
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Status : Answered
Chosen Option : 2
Q.23

Which one of the following Pramanas is accepted in Vaisheshika philosophy?

(A)  Pratvaksha

(B) Anuman
(C) Upamana
(D) S'abda

(E) Arthapatti

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B)and (C)only

(3)  (C) and (D) only (4) (A)and (D) only
Options 1. 1

2
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Question Type : MCQ
Question ID : 5362281567
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Option 4 ID : 5362286104

Status : Answered
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Chosen Option : 1
Q.25 Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  Energy production from biomass has traditionally been considered
carbon neutral.
Reason (R) : Carbon dioxide emissions from combustion of biomass are sequestered by
growing biomass
In the light of the above statements. choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A4)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3 {A) 1s true but (R) is false
[€Y) (A) is false but (R) is true
Options\}/ 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5362281578
Option 1 ID : 5362286145
Option 2 ID : 5362286146
Option 3 ID : 5362286147
Option 4 ID : 5362286148
Status : Answered
Chosen Option : 1
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Match List T with List IT:
ListI List IT
(Concept) (Philozsopher)
(A) Phenomenon and Noumenaon (I) Anstotle
(B) Potential and actual being (II) Descartes
(C) Mind and Body Dualism (III) Locke
(D) Primary and Secondary qualities (IV) Kant

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(1D). (C)-V), (D)-(II)
2y (A)-ID. B)-ID. (O)-(D. (D)-IV)
(3)  (AIV). (B)-(D). (C)ID). (D)~(II)
(4)  (A)-D). (B)-IV), (C)-(1D). (D)-(D)
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Question Type : MCQ
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Option 1 ID : 5362286113
Option 2 ID : 5362286114
Option 3 ID : 5362286115
Option 4 ID : 5362286116
Status : Answered
Chosen Option : 3
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Status : Answered

Chosen Option : 3
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Chosen Option : 1
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Status : Answered
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Question ID : 5362281569
Option 1 ID : 5362286109
Option 2 ID : 5362286110
Option 3 ID : 5362286111
Option 4 ID : 5362286112
Status : Answered
Chosen Option : 2
Q.31 Which level of teaching uses higher level of cognitive abilities as specified in Bloom's
taxonomy?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
Options 1. 1
2.2
V3
4.4
Question Type : MCQ
Question ID : 5362281547
Option 1 ID : 5362286021
Option 2 ID : 5362286022
Option 3 ID : 5362286023
Option 4 ID : 5362286024
Status : Answered
Chosen Option : 2




Q.32

Reason (R) @

Assertion (A) :  Verbal Communication takes place in real time.

Reason (R) :

different intervals.

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Written communication is synchronous in character as it appears at

In the light of the above statements. choose the correct answer from the options given below :

(1 Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) {A) is falzse but (R) 1s true
Options 1. 1
2.2
3
4.4
Question Type : MCQ
Question ID : 5362281559
Option 1 ID : 5362286069
Option 2 ID : 5362286070
Option 3 ID : 5362286071
Option 4 ID : 5362286072
Status : Answered
Chosen Option : 2
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Question ID : 5362281554
Option 1 ID : 5362286049
Option 2 ID : 5362286050
Option 3 ID : 5362286051
Option 4 ID : 5362286052
Status : Answered
Chosen Option : 2




Q.34

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Research ethics is a must in order to lend credibility to the research
findings and their use in authentic situations.

Reasons (R) : Application of ICT in research vouches for eredibility of research results.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both {A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options 1. 1
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Question Type : MCQ
Question ID : 5362281556
Option 1 ID : 5362286057
Option 2 ID : 5362286058
Option 3 ID : 5362286059
Option 4 ID : 5362286060

Status : Answered

Chosen Option : 2
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Question Type : MCQ
Question ID : 5362281550
Option 1 ID : 5362286033
Option 2 ID : 5362286034
Option 3 ID : 5362286035
Option 4 ID : 5362286036

Status : Answered

Chosen Option : 2
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Question Type : MCQ
Question ID : 5362281552
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Option 4 ID : 5362286044

Status : Answered
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Question Type : MCQ
Question ID : 5362281585
Option 1 ID : 5362286173
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Identify the correct sequence of the emergence of the following publications :

(A) Standard newspapers
(B) News book

(C) News sheets
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